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. The comparison is useful in that predators and prey often coevolve in response to each other. For example, as
plants evolve thorns, spines, or toxic chemicals to thwart herbivores, herbivores adapt with specialized beaks
or teeth, or with digestive systems that can destroy plant toxins. In the same way, a “weapons arms race”
describes a situation in which opponents develop weapons that can outcompete their enemies.

. By eating both species, the sea stars regulate both mussel populations, keeping them in check. Without this
predator, one species of mussel may outcompete the other for resources such as food or living space.
Ultimately, one species may extirpate the other.

. Humans are considered a keystone species because their presence and activities play a large role in
determining the types and numbers of other species in any community where humans live.

. The larger, tropical island is likely to have higher biodiversity. Larger land areas tend to have higher biodiversity

than smaller ones, and the primary productivity is likely higher on the island that spans the equator because
there is more solar energy available.

. C

. (a) Sample response: A polar bear's camouflage makes it difficult for its prey to see it against a snowy
background; hawks are faster and stronger than their prey. (b) Sample response: The king snake is a mimic of
the venomous coral snake. When predators see it they think it is a venomous species and leave it alone. A
stick insect blends into its background, making it difficult for predators to spot it
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This survival mechanism s called mimicry. Potential predators have learned to avoid bees and wasps, and by
mimicking those species, harmless flies avoid predation.

(a) This structure helps the seed float away on air currents until it lands in a new place, where a new
dandelion may grow. (b) The snowshoe hare’s white coloration helps it blend into the snowy background and
avoid predators. (c) An owls silent wings help it sneak up on prey animals without being detected. (d) A rapid
growth rate helps tundra grasses take advantage of a very short growing season. (e) An eagle’s eyesight helps
it spot prey animals located far away when soaring high above the ground.

Primary productivity is a measure of the energy made available by producers in an ecosystem. An abundance
of producers supports a complex and diverse community of consumers,

Sample answer: Biodiversity is the term used to describe the number of different species in an area. High
biodiversity means the area has many different species, and low biodiversity means the area has relatively few
different species.

Biodiverse communities tend to be more resilient to change and recover more readily from disturbance than
species-poor ecosystems.

Biodiversity makes ecosystems more stable and less affected by environmental changes such as droughts,
floods, or fire, o the loss of species to extinction. The tundra has lower biodiversity than a deciduous forest.
Therefore, the tundra may be more susceptible to disturbance from small changes.




